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POLITICAL SCIENCE / 20858 RN
Paper - I1/ »%5 - 11

Who among the following is the
propounder of labour theory of value ?

(A) Thomas Hobbes(B) John Locke
(C) Rousseau (D) J. Bentham
Gramsci's ‘Integral State’ refers to :
(A) Political Society

(B) Civil Society

(C) Political Society Plus Civil Society
(D) Organic Intellectuals

Who of the following said that to know -

is to bear the responsibility for acting
and to act is to engage in reshaping
society ?

(A) R.A Dahl
(B) Stuart Rice
(C) David Easton
(D) G.A. Almond

‘Which one of the following is not
written by John Rawls ?

(A) A Theory of Justice

(B) Political Liberalism

(C) Equality and Partiality

(D) Justice as Fairness : A Restatement

Who among the following designated
behavioural politics as ‘pseudo-politics’
or ‘counterfeit politics’ ?

(A) Brian Berry

(B) Christian Bay
(C) Charles Merriam
(D) George Catlin
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9.

For Kautilya the

concept of
‘Rupadarshaka’ means :

(A) Beautician

(B) Magistrate

(C) Inspector of coins
(D) Zamidar

Plato appropriated the ideas of :
(A) Heracleitus

(B) Parmenides

(C) Socrates

(D) All the above

Who among the following referred to
Mahatma Gandhi as “The pacifist evil
genius of Indian Politics” ?

(A) R.P. Dutt

(B) P.C. Joshi

(C) R.N. Tagore

(D) E.M.S. Namboodiripad

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Read the

statements carefully and in the context

of the above two statements, identify

the correct answer from the codes

given below :

Assertion (A) :

John Stuart Mill is a reluctant

democrat.

Reason (R) :

He was dissatisfied with the existing

imperfections in democracy.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of

A).
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10. Match the items of List-I with items of
List-II by selecting the correct code.

List-1 List-I1
(Authors) (Books)
(a) Dhananjay (1) The Essential
Keer Writings of
B.R. Ambedkar
(b) Sukhdeo (i1) Dr.B.R.
Thorat Ambedkar : Life
and Mission
(¢) Valerian (iii) Bhimrao
Rodrigues Ramji
Ambedkar-A
Study in Social
Democracy

(d) G.S. Lokhande (iv) The Hindu
Social System
and Human
Rights of
Dalits

Codes :

(a) () (© (@
a) ) v @) 3ii)
B © @) 3§i) @)
©) @) @(v) () @
(D) Gv) Gi)) (@) (i)

11. Identify the wrongly matched pair
regarding theories of revolution.

(A) Barrington Moore :
Classical Historical Model

(B) Crane Brinton :
J.Curve theory of revolution

(C) Chalmers Johnson :
Revolutionary Change

(D) Theda Skocpol :
State and Social Revolution
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12.

13.

14.

Lucian Pye regarded equality as one of
the key aspects of political development.
Which among the following is not a
component of political equality ?

(A)
(B)
(©)
D)

Appointments based on merit
Selective voting rights
Mass participation

Universal laws

Arrange the following stages of political
development as proposed by Edward
Shils in correct sequence :

(a) Modernizing oligarchy
(b) Traditional oligarchy
(¢) 'Totalitarian oligarchy
(d) Political Democracy
(e) . Tutelery Democracy
Codes :

A ), @), ©, @, d

(B) (), {0, (e), (a), (d)

(©) (), (), (a), (e), (d)

(D) (), (0, (a), @), ()

Arrange the stages of Political
Development as conceived by Kenneth
Orgonsci in appropriate order :

(a) Abundance

(b) Political Unification
(c) National Welfare
(d) Industrialization
Codes :

A) o), @), ), ©

(a), (b), (c), (d)

(b), (d), (o), (a)

®), (@), (@), (&)
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16.

16.

Following are two statements one is
Assertion (A) and Reasoning (R).
Read the statements and answer
correctly.

Assertion (A) :

Classical and current Elitist theories
share the ambition of explaining state
outcomes through elite behaviour.

Reason (R) :

Regime types, regime change,
liberalization secularization, fit within
the scope of Elite theory.

Codes :

(A) (A) and (R) are correct and (A) is
correct explanation of (R)

(B) (A) and (R) are correct but (A) is
not correct explanation of (R)

(©) (A) is true but (R) is false

(D) (A) is false but (R) is true

Following are two statements one is
Assertion (A) and Reasoning (R).
Read the statements and answer
correctly.

Assertion (A) :

According to James C. Davis revolutions
do not occur in impoverished societies.
Reason (R) :

As people in impoverished societies are
preoccupied with their physical

survival the ability for joint political
action will be absolutely low.

Codes :

(A) (A) and (R) are true and (R) is
correct explanation of (A)

(B) (A) and (R) are true but (R) is not
correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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17.

18.

Following are two statements one is
Assertion (A) the other is Reason (R).
Look at the answers and choose the
correct one.

Assertion (4) :

According to proceduralist concept of
democratic legitimacy, following
appropriate process to establish
authority is very important.

Reason (R) :

This approach of political legitimacy
thus gives more importance to
democratic decision making based on
procedural values.

Codes :

(A) (A) and (R) are correct and (R) is
correct explanation of (A)

(A) and (R) are correct and (R) is
not correct explanation of (A)

(A) is true but (R) is false
(A) is false but (R} is correct

(B)

©
D)

Following are two statements one is
Assertion (A) the other is Reason (R).
Look at the answers and choose the
correct one.

Assertion (A) :

‘Agenda setting’ is one of the key
functions of political communication,
generally employed by mass media.
Reason (R) :

Political communication is used by the
political parties to convince the voters
to accept their political agenda.

Codes :

(A) (A) and (R) are correct and (R) is
correct explanation of (A)

(A) and (R) are correct but (R) is
not correct explanation of (A)

(4) is true but (R) is false
(A) is false but (R) is true

(B)

©
(D)
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A
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19. Match the following : 19. 5%5 -1 6% womers mgg - 11 &%
©o5ro8’ KO 2 HHHES BBS S°EH
Set-1 Set-11 HBosod :
(Books) (Authors)
é%é -1 ég% -1I
(a) Aspects of Political (i) S.M. Lipset ({fogren) (BSonden)
development
_ (a) ea?ooﬁﬁ (213 (1) S.M. 055
(b) Crisis and Sequence (i) AFK OBES
in Political Organski Gl0Sdass
Development
| ) EYS wof @ AFK
(c) The stages of (i1i) Lucian Pye ES) 88 BB
Political FOBES
Development .
(d) Political Man (iv) L. Binder © &3%85 ef (iii) ©PRCHS R
ORES
Codes: GHenots
5% :
(A) (i) @) Gv) @)
(@ (b) () (@
CE RN, @ G @ G 6
© Gi) @) @ 6 LEEURSE
_ (C) Gi) @Gv) i) @
D) (i) @) @ v cin g . .
D) @Gy () G v
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20.

(a)

(b)

©

(d)

21.

22.

Match thel following :
List-1
(Authors)

Kennath
Arrow

Anthony
Appiah

David
Estlund

Leslie
Green

Codes :
(a)
(i)
(i1)
(ii)
(1)

List-I1
(Books)

Authority of the
State

Social Change and
Individual Values

()
(ii)
(iii)

Cosmopolitanism

Democratic
Authority

(iv)

(b) (c)
(v) @)
(i) (@1v)
@11y Q)
@ ()

(d)
(iii)
®

(iv)
(iii)

&)
(B)
©
)

Who of the following described Indian
Constitution as ‘quasi federal’ ?

(A) B.R. Ambedkar
(B) A.V. Dicey

(Cy K.C. Wheare
(D) D.D. Basu

The President of India is elected by :

(A) All the members of the both the
Houses of the parliament

All the members of the state
Legislative  Assembly and
Legislative Council

Only members of the Loksabha

Elected members of the both the
Houses of parliament and state
Legislative Assemblies

(B)

©
)

Paper-II

10

20.

(a)

(b)

()

21.
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(D) D.D. e
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D)
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23.

24.

25.

Paper-II

What was the major theme of the
recommendations given by L.M. Singhvi

" Committee ?

(A
B)

Democratic Decentralization

Community Development
Programme

(C) Constitutional Status to the local

bodies

(D) Revitalization of Panchayat

Institutions

Which of the following is not correctly
matched ?

(A) Quo-warranto : By the warrant of

authority
B)
(©)
(D)

Mandmus : We command
Certiorari : To be certified

Habeas Corpus : To take care

In India Partyless democracy was
advocated by :

(a) M.N. Roy
(b)
(c)
(d)

Select the correct answer using the
codes given below :

(A) (a)and (b)
(B) (b} and (d)
(C)  Only (b)
(D) Only (@)

Jayaprakash Narayan
Mahatma Gandhi
Vinoba Bhave

11

23.

24,
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217.

Paper-II

One of the reasons for accepting the
federal structure by the makers of the
Indian Constitution :

(a) It was the prevailing structure of
government

() It was obligatory under the Indian
Independence Act, 1947

(¢) It was diversity of race, religion
and language in the country

(d) It was in keeping with the

tradition of government in Ancient
India

Codes :

(A) (a), (b) and ()
(B) (b) and (0
(C) only (c)

(D) (2) only

Among the following pairs which is/are
wrongly matched ?

(a) A.O.Hume
(b} Rajgopal Chari
(¢) S.P. Mukharjee :

: Swatantra Party
: Jansangha

Indian National

Congress
(d) J.B. Kripalani : Communist
Party of India
Codes :
(&) only (d)

(B) (b) and (0
() () and (&)
D) (a),(b),(c) and (d)

26.

217.

R
gPEE8 Tramgored)) daweyg ééégm T%)ED
BHTed8 S0y SPEER0 ¢

@ Ssrey 55 a8 o & S Baoes®
Fgdolgmgd8 (rdsTo Doy
oSS,

(b) grES JxBoldy B0, 1947 (HSeBEw
SHRIBT SSrgy SEEE Do
By SYPS6.

(© B0 et aXtnsod R, B,
8 HEDHS HYFo Dreorr.

DS rEsSdo o8 Bd af
FroPorahore FIJ;ACH.

§85‘3:

&) (2), (b) S8 (0)
(B) (b) $BE (c)
© (0 &S

D) (a) SrED

GY

& Bod T8 DO KOS @l =&
1oBoHdm ?

(@ A0S : dyBold Y

(b) oeefPder 8 28505

© S.P. 509 . 308CHS IAIS
: soRR

@ IB GHeD  : SSmRy

F§ ©5 solcsr
<
(A)
(B)
(©
(D)

(d) S8

(b) B3 (c)

(c) Hobcs» (d)

(a), (b), (c) &k (d)
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28. There are two statements, one is

labelled as Assertion (A) and other is
labelled as Reason (R). Choose the
correct answer.

Assertion (A) :

strong party system is inevitable for
solidarity and efficient management of
government in a democratic country.

Reason (R) :

Political Parties are the means by which
citizens get an opportunity to choose
their rulers.

Codes g

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
i8 not the correct explanation of
4)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Paper-II

05

28. 803 (FBFES (A) THH (R) o3 Dot

(D53 aTnow.  TE R SO
8085 adyS 580 D08 8BS JErTPR)
Qo8 BoHok.

BBES (A) :
Sedngtoy SFHE SEUSBDS Heviss
Dovgifvesy SBFJs  IES5Sy
S LESDIB.

THH R):

P S (H8IG0 ISPStBKost
radoh HEgen SH@EPKSHTOD.

555‘3 e

(A) (A), (R) o Bokr DADEMP $B3S
HBck (R), (A) © $BS D586

B) (A), (R) o Bokr B8 $BSS
=, (R), (A) % $BS D56e o

© (A) sy =D (R) 55

D) (A) 85 =0 (R) 2y
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©
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(@A)

®

Match the following :

List-1

Indian Council
Act, 1892
Ihcifan Council
Act, 1909

Government of
India Act, 1919

Government of
India Act, 1935

T4

Codés :

@

(i)

(1)

(iv)

List-I1I

Bicameral
central
legislature

Dyarchy at the
centre

Member of
legislative
council given
right to ask
question

Non-official
Majority in
provincial
legislatures

(@) (b) () (d)

©)

o ®

H"lJ

f*’ 3

é- -"?531;:&_-

43:.

@) G 6

@iy Gv) @

)

(i)

@) @v) @) @

{
m‘

(i) Gv) @)

29.

(a)

®

(c)

(d)

14..

LT

388 -1 S0 wome 58 - 11 &5
woTos® KBIT adHHHeE 1B &%

Hdodod :

S8% -1

-]

58 NS
z‘,Séa))B’JJJ, 1892

gros QS
Seyim, 1909

gr8& |58hey
Sé3350, 1919

TP (508,
6%&’)&), 1935

%5, :

(a) (b)

Ay Gv) Qi)

B) @) av)

(©) () @)

D)y @ (@

(1)

(1i)

(iii)

D8 - 11
&

SolSos® G
He D ew

oot
ela PON

RS LookdE
éa‘i‘goéz

BHeo &7
©X5eES0

(iv) [@roHod TsHges®

(111)

(1v)

[Shtalsiel ée;i:agea
Sogy oye

(d)
(i)
(ii)
®

(i)

B-19-17
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30.

(a)

®)

(c)

(d)

31.

Paper-I1

Match List-I with List-II by choosing
the correct answer :

List-1 List-11
(Authors) (Books)
Myron Weiner (i) Laxmi : The

Political

Economy of India

Rudolf and (i1)
Rudolf

India : The Most
Dangerous
Decades

Francine
Frankel

(1ii) Modernity of

Tradition

Selig G.
Harrison

Politics of
Scarcity

(iv)

Choose the correct answer
(a) (b) (c) (d)
A @O aG) Gv) @)
@) @ @ Gi) Q)
© @Gv) (i) G G6)
D) (i) (ivf ) @

Which one of the following was not a
base of organization suggested by
Luther Gullick ?

(A) Function or Purpose

(B Process

(C) Clientale

(D) Technology

30. 385 - 160 voredH SGE - 11 69

31.

woTO8® IO af HHLE 8% 55EH
8oSod

388 -1 588 - 11
(SSondes) ($55e0)
@ DESHIE () of: s >osss
' 285D
o5 Bol&dir
(b) CSow’SJ (ii) aodcisﬁv 8 IPQ
©of K Goass &3&
© @S (i) $Eed of
|§ro8S BRAS
@ DORA (iv) FOBE)eH
ORS %&q}é

385 SED JoHED JEFFSO BB08.
(@ (b) () @

@ @ @ @) G

® G O i) Gv)

© Gv Gi) & G

O G @ G ©

& 8108 8 org8 KOS (H8FB0DS
S Srogrordd Somogo 89
©0d0 :

A) Depen TS aFdsm
(B) ®(8ad

(C) srermrddd
AoBDHES

T B- 19:17"




32. Which one of the following is not
concerned with preventing
administrative corruption in India ?

(A)
(B)
©
(D)

Central Bureau of Investigation
Central Vigilance Commission
Lokpal and Lok Ayukta

Prime Minister’s Office

33. The economy cut motion seeks to reduce

the proposed expenditure of a demand
for grant by :

(A)
(B)
©
)

Rupees one hundred
Rupee one

A specified amount

An unspecified amount
34. Position classification is the
classification of : )

A)
B)
©)

D)

Salaries
Duties
Departments

Personal status of incumbent

35. John Woodward is known for her

contribution in which area ?

(A) Task technology approach to

organizational design

to

(B)

Environmental approach
organizational design

©)

Communication system in an
organization

Feedback
organization

()] control in

an

e

di i Rl e g e e £ e
JELN SR o B Ukl Eo o LT
Bt

R A Lt SRR,
Baperat| 00

A

32. & (808 I oA HOFOSS®
©DIBY ©BELEEI8 Jowoio BB :

(B) oS args® 5 aSIYAGS (CBI)
(B) DolbS 22BF) MBS (CVO)

(C) &BrS wol Ssraing

(D) EIDOB SPTOCHEN

33. o8 womwd JobS sfsdoyso B3

DESYLS SEG By Ty, Bswol ¥6
(rot5E® dod SRoTed SBhEth ?

(A) Solvmaraben

B) af Erdeow

©) $8FBE Fngso

D) H8FBoSHED BogEn

34. Trre 55880 030 & Bodaeds® U8

PoodoNds ?
(A) S8gagen
(B) 3oen

(C)
(D)

TPHLO

HEDS a0 H8re 3;0:3

35. (800 TVE° &S BN O w08 [BRY?

(A) By ErOE)RE° setgin PoSBES
DOBOYS

égﬁi‘g @éé@gzéés SomgSBes HBELYS
555:865 B> dozeren

%5536° (HEwE) wHFahvESw
e Addol@osio

(B)
(©)
)

B-19-17
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36.

317.

38.

?g?er_—_llﬁ_

Who among the following explains
bureaucracy in the light of ‘Political
eliteg’ ?

(A) Karl Marx
©

(B) Max Weber

Mosca (D) Herzberg

“Great technical corps of the state” and
“Great administrative corps of the
state” pertain to the civil service of
which of the following countries ?

A) USA.
(B) UK.
(C) France
(D)

Japan

Consider the following statements
about Panchayati Raj in India.

(a) Panchayati Raj system envisages
representative government at

three levels

1/3'd of the total number of seats
are filled by direct election and is
reserved for women

®)

Grama sabha elects the executive
of the village panchayat

(c)

(d) A panchayat elected after

dissolution enjoys the full period
of five years

Choose the correct answer from the
codes given below :

Y
B)
©
(D)

(a), (b), (c) are correct
(c) and (d) are correct
(a) and (b) are correct

All are correct

36.

37.

38.

oeadash %Kg@é’s ﬁﬁ%ﬁcﬁ‘ﬁ&’b‘éﬁ)& 809
66‘305)?6 TS :
(B) =58 508y

(C) 3?5\2

B) Sr§) I26
D) 33"5“)33§

‘05 BEES 595;}) 6% & 5 Sodcso “@BeS
@&é&){géﬁS =6) 5 8 coe.‘? 3 Both IS
aésco Aglrren Ko 8%&5;0 0B 7

(A) oIdz
(B) sorpo& (c80.B.)

© @
(D) a3deS

PSSR TH08D HoPcHE oo EEEESES
S0205005 & (808 womed oae-ﬁao{’)
VOGS s KHHoSA.

(a) DoircHE oof 5 o2 @weé‘
@Pé}?\)cseg (Sa0agy @ab&mo&

1/3 Hod Sey BEE Qe e
&0 3@50&:53@&» HHBEH Hrded
8288 aegoe EDyoswdaron

(b)

() (™ HomrchHd SERTRIE Soey
e B¢ ddnotnod
(d) && ®ons Soorass§ 5)‘;6065

&).Sf_lgsaa&é BPES aa)’o‘gva 0
JodEore HBH FIWivEH

38 B DoDHED SErGre BSoa :
&) (a), (), (c) BBGS

(B) (c) $B0%0 (d) $OBRD

© (2) 6% (b) SOESD

(D} o) J0GS Ssrgearen

B-19t ’157




39.

40.

Paper-II

Match List-I with List-II and select
your answer from the codes given
below :

List-1 List-II
(Theories) (Propounders)
(a) Scientific (1) Herbert Simon

Management
(b) Decision (i1). Elton Mayo

Making
(¢) Human (1i1) Maslo

Relation in

Management
(d) Motivation (iv) Fredrick W.

Taylor
Codes :
(@ (B () (@@
@ @ @@ @) Gv
B) Gv) @ G (i)
© @ Gy @ v
(D) (i) @iy vy @

Given below are two statements,
labelled as Assertion (A) and
Reason (R) in the context of two
statements which, one of the following
is correct.

Assertion (A) :

The hierarchical organisations function
according to the principle of ‘through
proper channel’.

Reason (R) :

With the permission of the immediate
superiors gangplanks can be practised.
Codes : _

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)
Both (A) and (R) are true but (R)
is not the correct explanation
of (A)

(4A) is true but (R) 1s false

(A) is false but (R) is true

(B)

(€
®)

18

39.

40.

SRR OGO R

BBE-1 6% woTeH $GE - 1167 vowes®
$BIP 2388 HHWHEB JBH FED rhotold

$8% -1 588 - 11
Brpomren)  ($8PHODN Sghen)

(8) o8B () IEHT WS
FIED0ET

b) Do (i) IS DG
BrENS
(R2HS H&R)

© HIEdoSS® (i) HRS
S Doogren

(d) (e (iv) R&6s

Eeps. Bod

555‘3:
(@ ((b) () (&)

(A @) @) G ().

B) v) @ i) (i)

© ® 3y G v

(D) Gi) @) ) @

808 (SOFES (A) THH (R) ©F Bod
(E5eben amow. E g 36 8o
ad)s 880 $od $BS BEFEETRY 0¥
Sahod.

B3 (A):

(BB Sy5ien DBS Srto Tre Sabio
o3 ¥ro Ty B Brow.

%D (R) :

83 D B0 Ging) WHrrdo BotsBgio.
ESE‘J :
(A) (A), (R) = Bokr DADA™ [IBXS
8050 (R), (A) & $335 DS
(A), (R)en Bor DBIEM KBS =0,
(R), (A) & 3IBS SBes =0 '
(A) 2.3y =0 (R) &5y

(A) 83 5D (R) 2

(B)

©
)
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47.

48,

Paper-II

Consider the following statements
regarding the Game theory of
International Relations and select your
answer from the codes given below :

(@) It is the result of mathematical
approach to International

Relations

(b) Every decision maker selects a
course of action out of many

alternatives

International
classified in
equilibrium

(c)

systems
six states

are

of

(d) Tt is based on system of action
Codes :

(A)
(B) (c) and (d) are correct
(C) (a) and (b) are correct
(D) Only (d) is correct

Only (¢} is correct

Read the following statements
pertaining to Counter Proliferation and
select your answer from the codes given
below :

(a)

It discourages states to acquire
weapons of mass destruction

(b) It encourages other countries to
develop nuclear weapons as
deterrence

(c) Mitigate the consequences of any
use of Weapons of Mass
Destruction (WMD)

(d) It stands for assured retaliation of
these

Codes :

(A) Only (b) is correct

(B) Only (a) and (b) are correct

(C) Only (d) is correct

(D) Only (a) and (¢) are correct

21

47,

48.

wodmdch Somogreost Eoe epoaeds
Sowohod & BIHS DEYY) womedt
JOTLS A HBOSHEM :

(@ Rezoso ot Somores®
RBETG sprdore 8y80s

T ) Séée)o 4 @38"553&(15?0353
588000 $O@S IBIHPY JodE
BoHotrss

wodrdad HhPod “etd toange
55:8‘05” arsore ééé&oa‘ﬁa

(b)

(c)

(d) 3% (Er8S65m QZomoSntdHEHod
&%) :

(B) (o) SPED BO@DS SSoorEsED
(B) (c) SoBc%» (d) ¥B®S Bsrogrdsn
(€) (a) B (b) BOTDD BETGPSHw
(D) (&) SrED TS BSvogrssn

saing g8 8o HBoD Br0SS HEs
Tpsod S6800D IBBoS 89
80w :

(a) PR NP satvrred Toagen
[©FHrosHome SrEko

&S0 a88 Seen S o855
=l ef-H) @ISR GTTOD
Dorobothotrown.

JPRSD AR safRgreb:
&3@APAOSDOE SBBBR $AFaw

®

(©)

(d) & wdopre Sod HAHHod 82
FLoei8 sidmto eotood.

&5, :

(A) () S $6FHHA

(B) (@), (b) IB@DID

©) (@ I=ED $SOFSH

D)

(a), (¢) SPMSD OGS
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49. Match List-I with List-II and select | 49, g;%g I 59 eomends S8 - 11 OB

your answer from the codes given SO wd SEes GBS S8 rHhosod
below : S = )
List-I List-I1 5§§ -1 5%5 -1I
Thinkers School of
¢ ) ( thought) (&agoéégen) (?OCS;OEPQD)
(@ Richard () Realism (@) 635 FwS @B () LS B
Rosen @ -
Cranee
b) oaf s§) (i1) éo:ﬁ;ﬁémém

(b) Robert (i) Institutionalism
Cox

(c) 338 avg (iii) BTeE aeESS»

(© Kenneth (iii) Liberalism
Waltz
- . @) oof £F3 (v) @S

- B .
(d) Robert (iv) Critical theory “m;‘-"é

Keohar_le
%%, :
Codes :

(@ (b) () (@) (a) (b) (¢) (d).

(&) Gy 3Gi) Gv) @ (A) () Gi) vy @
(B) Gi) Gv) @ (@) B) @) Gv) @ @D
(Cy @v) Giy @)y (@) ' (C) Gv) @) (Gii) @)

O @ G 3§ @) M) @ G 3ii) Gv)

§ »ﬁ&ﬁ'i’&' ;;':‘E__. ) " 1_-'-
. B ,erf.“ p

! AL R G
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50.

Given below are two statements , one
labelled as Assertion (A) and the other
labelled as Reason (R). Read these
statements carefully and in the context
of the above two statements, identify
the correct answer from the codes given
below :

Assertion (A) :

The leading western politicians hailed
a new world order in the 1990’s.

Reason (R) :

International Institutions such as UN
security council witnessed a new
pattern of co-operation.

Codes :

(A) Both (A) and (R) are individually
true and (R) is correct explanation
of (A)

(B) Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A)

(C) (A) 1s true but (R) is false
(D) (A) is false but (R) is true

-o0o-

Paper-IT
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50. 80& (HOFBS (A) TP (R) o3 Botd

5680 amnon. B aniidre 500 8o
ad)® 560 S0l 188 :a::mb:uv;a aozas
BHod

BOFES (A):

1990 S35508° DEAS &S, PS50
E5r)  Feds cadbwpoce
BT

THH R) :

wodzBaH Sogest 288 saé,so'ap,s
$E0BEHD S S080E° $rEss :S?J's'ﬁo
DoTrodotnlss.

&5, : i (St i
(&) (A), R)o> Bot» DADAM™ $BSS
B0 (R), (A) H $B$ 56w

(B) (A), (R) & Bokir A& 3B3S
=, (R), (A) o % 3B DSt =

© (A) 2 =B (R) 8
D) (A) 5 =D (R) iy
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